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Match #42


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Many followers of this religion live in India and are known as Parsees. The Avesta (ah-VEH-stah) is the sacred text of what religion, founded in 6th century BC Persia, that teaches of an eternal struggle between the evil Ahriman and the good Ahura Mazda?

ANSWER: Zoroastrianism 

2.
What part of the quadratic formula determines the type of roots an equation has and is b squared minus 4ac?

ANSWER:
discriminant
3.
Investors use this word to describe a contract that promises delivery of a set number of stocks or commodities at a preset time to come. Grammarians use it to describe the tense used to describe actions that have not yet happened. What word is used to describe the time that is yet to come? 

ANSWER: future
4.
According to Sigmund Freud, it lived entirely in the Unconscious mind, and expressed itself in impulses such as sexuality and aggression, and operates according to the pleasure principle. What part of someone’s psyche is struggling with the superego, with the ego serving as “referee”?

ANSWER: id
5.
There are actually two separate observances of this event. The first, endorsed by the United Nations, occurs on the vernal equinox in the northern hemisphere.  The more common one was designed as a one-time event in 1970, though its success led to one being held every year on April 22.  What is this annual event, a celebration of environmental protection and named for the planet on which we live?

ANSWER: Earth Day
6.
For drywall, it’s .45; for brick, 4; and for 6 inches of fiberglass, 18.8.  Name this letter used to represent insulating value.

ANSWER:
R-value

7.
Her husband, Reeves, tried and failed to convince her to enter a suicide pact. This unhappiness is reflected in her play The Square Root of Wonderful and her novel The Member of the Wedding. Her health, always fragile, resulted in her early death in 1967 at age 40. What Georgia native, however, is better known for the novels Reflections in a Golden Eye and The Heart is a Lonely Hunter? 

ANSWER: Carson McCullers
8.
This city experienced a “golden age” under Hiero II after it defeated two sieges by the Carthagianians in 397 and 339 BC. It lost its independence for good in 212 BC when the Romans captured it after a three-year siege. It turned the tide of the Peloponnesian War after destroying an Athenian expedition in 413 BC. What city on Sicily was the namesake for a large city and university in upstate New York? 

ANSWER: Syracuse
9.
Each member of this play’s main family, despite living in poverty in St. Louis, has an escape – the mother has her Southern childhood, where “seventeen gentleman callers” visited her, the son has his fire escape and literally escapes at the end of the play and the daughter has her animal figurines. What play by Tennessee Williams has but four characters: Jim O’Connor and the three Wingfields – Tom, Amanda and Laura? 

ANSWER: The Glass Menagerie
10.
A twelfth installment in the series, entitled “The Day of the Flyers”, is slated for release in 2007.  Young friends the main character meets along the way in the original film include Spike, Petrie, and Ducky, while the main enemy is Sharptooth.  An orphan Apatosaurus named Littlefoot is the star of what 1988 animated film directed by Don Bluth?

ANSWER:  “The Land Before Time”

11.
In 1693, he started actuary science when he analyzed the life spans of residents of Breslau (bray-SLAU), Germany. He also established the relationship between barometric pressure and altitude. Who, however, is most famous for observing in 1682 and then predicting the 1757 return of a comet that is now named for him?

ANSWER: Edmond Halley (HAH-lee, but HAY-lee is also OK)

12.
The number’s the same.  What is the number of hydrogen atoms in butane, the atomic number of neon, and the number of carbon atoms in decane?

ANSWER:
ten
13.
Johann Forkel’s 1802 biography of this man helped revive his reputation as a composer.  Since then, Pablo Casals has promoted this man’s Cello Suites, while Felix Mendelssohn performed his St. Matthew Passion in 1829.  Who was this great Baroque composer of the Brandenburg Concertos (con-CHAIR-tohz) and the Goldberg Variations, also known for three of his sons becoming composers as well?

ANSWER:  Johann Sebastian Bach
14.
In 2004, it became the first public university in America to get more money from private sources than public. Many graduate students here live on “The Range,” 47 lucky seniors get to live on “The Lawn,” and its landmark building is known as “The Rotunda.” What university, chartered in 1819, has as its father Thomas Jefferson?

ANSWER: University of Virginia or The University
15.
In 2003, he published an essay, “The United States has gone mad,” in the London Times to protest the Iraq war. His novel The Constant Gardener contains intrigue, but it is of the corporate and not the spy variety. What author of The Little Drummer Girl and The Russia House has his character George Smiley appear in the novels Smiley’s People and The Spy Who Came in from the Cold?

ANSWER: John le Carré
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
The plain of Idavoll, the Well of Urd, and the hall Valhalla can all be found within which Norse world, the home of the Aesir (EE-sir) gods?

ANSWER:  Asgard
1B.
Van der Goes’s Portinari Altarpiece, Titian’s (tih-SHUNZ) Venus of Urbino (ur-BEE-noh) and Botticelli’s Primavera all hang in which palacial art museum in Florence?


ANSWER:  Uffizi (oo-FEE-tzee) Gallery

2A.
X squared over a squared minus y squared over b squared equals one is the general formula for what conic section?

ANSWER:
hyperbola
2B.
What sea is connected to the Indian Ocean by the Gulf of Aden (ay-den) and the strait of Bab-el-Mandeb? 

ANSWER: Red Sea

3A.
Cytokinesis is often considered to be part of what final phase of mitosis?

ANSWER:
telophase
3B.
Ruby is the red variety of what mineral with Mohs value of 9?

ANSWER: corundum
4A.
“To him who in the love of nature holds,” is the opening line of what poem, written at age 17 by William Cullen Bryant? 

ANSWER: “Thanatopsis”

4B.
THIS IS A COMPUTATION QUESTION. The old British monetary system had 20 shillings in a pound and 12 pence in a shilling. How many pence are in 3 pounds, 2 shillings and 5 pence? (£3 2/5 if you’re fond of the old system.)
ANSWER:
749 (720 + 24 + 5)
5A.
What are either of the two cities that contain the two largest branches of the United States Mint?

ANSWER: Philadelphia or Denver

5B.
According to Douglas Adams, what is The Answer to the Ultimate Question of Life, the Universe and Everything?

ANSWER: Forty-two 

6A.
The Book of Fate is the latest novel by what bestselling author of D.C.-based mysteries, including The Tenth Justice and The Zero Game?

ANSWER:  Brad Meltzer 

6B.
In 1826, Ottoman Sultan Mahmud II broke the power of what elite army unit? 

ANSWER: Janissaries
7A.
THIS IS A COMPUTATION QUESTION. What is the degree measure of an angle whose supplement is 4 times larger than its complement?

ANSWER:
60 degrees
7B.
THIS IS A COMPUTATION QUESTION.  Solve for x.  x squared minus 8x minus 33 equals zero.

ANSWER:
x equals eleven and x equals negative three (accept either order)
8A.
What is the atomic number of chlorine?

ANSWER:
seventeen
8B.
What 20th century poet wrote the short story “A Child’s Christmas in Wales” and the poem “Do Not Go Gentle into that Good Night”?

ANSWER: Dylan Thomas
9A.
Excluding Winston Churchill who had a second term, name anyone who served as Prime Minister of the United Kingdom between Winston Churchill’s defeat in 1945 and Margaret Thatcher’s victory in 1979.

ANSWER: Clement Attlee, Anthony Eden, Harold Macmillan, Alec Douglas-Home, Harold Wilson, Ted Heath or James (Jim) Callaghan
9B.
Best known for its sports titles, what video-game developer is also responsible for the “Medal of Honor” and “Battlefield” series of games, as well as the Sims series through its subsidiary Maxis?

ANSWER:  Electronic Arts or EA
10A.
What word either refers to a ladies’ garment or the preparation of wild game or fish for eating or selling?

ANSWER: dress
10B.
What law states that gas volume is directly proportional to temperature?

ANSWER:
Charles’ law or Charles-Gay-Lussac law

Third period, 15 toss-ups, 10 points each

1.
A prelude to these was the Napier Affair, which temporarily closed the port of Canton. The first was fought between 1840 and 1842, and concluded with the Treaty of Nanjing. The second was fought between 1856 and 1860, and ended with the Treaty of Tientsin. What two wars were fought between Britain and China over the trade of poppy extract?

ANSWER: Opium Wars

2.
This book’s second half centers on a steamboat journey from St. Louis to New Orleans, where the author talks about how things have changed – new, large cities being built along the riverbank and competition from the railroads. The first half focuses on the author’s experience as a barge crewman while going down the river. What memoir by Mark Twain begins with Hernando de Soto’s 1517 discovery of the titular river? 

ANSWER: Life on the Mississippi
3.
THIS IS A COMPUTATION QUESTION. What percent of a circular room of radius 12 feet does a circular rug of radius 6 feet cover?

ANSWER:
25 percent
4.
Michigan and Ohio have essentially said that their share will never be built, while North Carolina is the only state to have built any portion. Virginia recently designated its share of the route between Roanoke and the North Carolina border near Martinsville, which is designed to parallel US 220.  What is this interstate being planned, designed to connect Sault Ste. Marie (Sue Saint Marie), Michigan and Myrtle Beach, South Carolina?

ANSWER: Interstate 73 or I-73
5.
The area on the bottom of this body part is called the lunula (loo-NEW-luh), a reference to its “moon” shape. The post-mortem drying out of surrounding tissue makes it look like they keep growing after death. What body part grows an average of 1 centimeter every 100 days, is found on the end of your fingers and toes, and is frequently bitten?

ANSWER:
nails (accept fingernails or toenails)

6.
Amazingly, on May 27, 1991, the police returned one of his 14-year-old victims to him. He was arrested and convicted on 15 counts of murder later that year, and was killed on November 28, 1994, by fellow prison inmate Christopher Scarver. What serial killer from Milwaukee gained notoriety for his cannibalism? 

ANSWER: Jeffrey Dahmer
7.
The true ones are in the infraorder Brachyura (bray-KEE-you-ruh), and species include the pea, horse and Japanese spider. The true ones also have ten visible legs. The king and hermit are NOT true examples of what crustacean whose zodiac sign is Cancer and whose most notable example is Eugene, the employer of Spongebob Squarepants?

ANSWER:
crab
8.
Her niece by marriage was the late R&B singer Aaliyah (ah-LEE-ah).  With her group, she scored two Top Ten hits in the early 1960s, “Every Beat of My Heart” and “Letter Full of Tears,” before joining Motown and reaching #2 with “I Heard It Through the Grapevine.” Who is this soul singer that hit #1 with 1973’s “Midnight Train to Georgia,” backed up by the Pips?


ANSWER:  Gladys Knight
9.
TWO ANSWER REQUIRED. Daily commuters travel from as far away as St. Cloud.  The metropolitan area includes two counties from Wisconsin, and the Republican Party recently announced that it would hold its 2008 convention here. What are these cities, home to Hubert Humphrey and the Mall of America, known as the Twin Cities?

ANSWER: Minneapolis-St. Paul, Minnesota (Either order accepted, prompt

on early "Twin Cities" buzz)

10.
Finnish has fifteen of them, German has four of them, Greek has five of them and Latin has six of them. English has two of them, but pronouns still have three of them. What aspect of nouns shows the function they play in a sentence; examples include objective, genitive, nominative and accusative? 

ANSWER: grammatical noun cases (prompt on “noun forms” or equivalent, do not accept “declensions,” those are merely ways of forming noun cases.)

11.
New York’s colonial government issued a 100 pound award for his capture. From his headquarters at Bennington’s Catamount Tavern, he fought New York militias and later on British army units. What leader of the Green Mountain Boys helped found the Republic of Vermont and led, with Benedict Arnold, the capture of Fort Ticonderoga? 

ANSWER: Ethan Allen
12.
Properly, it applies only to data structures whose interface explicitly allows it to have its memory address manipulated. In C++ the syntax involves an asterisk. What data type does not have a value per se, but rather refers to the intended value through a memory address?

ANSWER: Data Pointer
13.
It is named for two Republicans: a Utah Senator and a Oregon House member. Unemployment was 9% when it was signed; it was 16% the next year and 25% the year after that. To prevent a repeat of its effects, the Bretton Woods Agreement and General Agreement on Tariffs and Trade were signed after World War II. In 1930, Herbert Hoover signed, over the objections of 1,000 economists, what act that raised tariffs? 

ANSWER: Smoot-Hawley Tariff Act or Hawley-Smoot Tariff Act

14.
This 2nd century AD philosopher said the quotes, “All is ephemeral; fame and the famous as well,” and “Remember this – very little is needed to make a happy life.” What Stoic philosopher, author of the Meditations, was Roman Emperor between 161 and 180 AD, the last of the “five good emperors”? 

ANSWER: Marcus Aurelius Antoninus

15.
What is the first-person singular, present indicative tense in the passive voice of the Latin verb porto (POR-toh)? 

ANSWER: portor (POR-tor)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
In 1988, an attempt to reform it through the Catastrophic Coverage Act was hastily repealed several months later. It was signed into law by President Johnson in 1965, and Harry Truman was given the first card. Those who have permanent kidney failure or who are disabled can enroll under age 65. What government program added “Part D” in 2003 to provide prescription drug coverage to its senior citizen recipients?

ANSWER: Medicare
2. 
THIS IS A COMPUTATION QUESTION. A woman starts with $500,000 in her stock portfolio. The portfolio goes up 20% in the first year, and then goes down 10% in the second year. How much does she have at the end of the second year?

ANSWER: $540,000 (five hundred forty thousand dollars)

3.
Linda Perry co-wrote every song on the second of this 2006 album’s two discs, including “Candyman” and “Hurt”, the second single.  What is the name of this album, the first since 2002 for Christina Aguilera, that features the hit “Ain’t No Other Man”?

ANSWER:  Back to Basics
4.
By the time of this poem, the title character’s statue had crumbled; although its legs still stood, its head had nearly sunken into the desert. Nonetheless, he proclaims, “Look on my works, ye mighty, and despair!” as he calls himself “King of Kings.” What poem by Percy Bysshe Shelley begins, “I met a traveler from an antique land”? 

ANSWER: “Ozymandias”

5.
It is the largest member of the oceanic dolphin family, and the only cetacean (seh-TAY-shun) known to prey on other cetaceans. Shamu is a well-known example of what mammal, also known as a killer whale?

ANSWER:
orca (accept killer whale before it is mentioned)

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

